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HW 1.3 Grading

#33)

The problem included all three steps, was neat and easy to follow, and had correct answers. Good work.
Recommended grade: 100%

#36)

There were not any outstanding errors in your math as you followed Dr. Ayala’s test format. The
organization of all the mathematical calculations made tracking the problem very easy. It paid off as well
since you were also able to obtain the correct solution as well. The only thing | would suggest for the
future is to calculate all of the stages separately instead of placing them into such a small table.

Overall, every step was followed to calculate the final answer.

Grade: 100



